2021 /7 /Ju

SSC PART-Il (10th CLASS) (SPECIAL EXAMINATION)

UATHEMATICS (SCIENCE GROUP) (HJ wu) u"u
TIME ALLOWED: 2.10 Hours SUBJECTIVE bl Lo10 =
MAXIMUM MARKS: 60 60 = AF
NOTE: Write same question number _.»‘.:.bﬂuf.g.{.:’lfﬁ"é:" C'/J)/‘,%ZJJ*/',’{J'Y@){QK[}")? il

and its part number on answer book, as given in the question paper.

SECTION-I Us.»

2. Attempt any six parts. 12=2x6 _.{/futi’élf'ic—d[ _2 )
() Define reciprocal equation. Z: J/J_,ww" 0]
(i) Solve Bx+18=x fx+18 =x -&JS (i)
(iii) Solve by quadratic formula. /32 4 x = 4+/3 B+ x = 43 ~ZESennl i (i)
(v) Evaluate o P+ E cfr':""ui (iv)

(v) Write the quadratic equation whose roots are 3++/2, 3—+/2 @ gz Uﬂ(fué(f qfaul:l/&;m (v)

(vi) Showthat x’+ 3’ = (x +y) (x + oy)(x + ©>y) £+ yC)x +) (x +op)(x +0ly) -Zeb (Vi)

(vii) Ion:—li- and A=2 mA:?Z@r e r=3 2 A=2.quoc-7/l (vii)
r é r
S

when r=3 ,find  when 4 =72
(viii) Find mean proportion between x2— y2, ZEp L x2— y?, 2

X+y

(viii)

(i) Find the value of P f the ratios 2(})5: 3P+4  _unds3:44 2P +5:3P + 4 yFSE P (i)

and 3 : 4 are equal. .

- 3. Attempt any six parts. 12=2x6 -é:r,{fal_»’ﬁﬁi?.’f{gdf YA
(i) Define a rational fracti _5{_4,/;;'&/&# E()
(i) Resolve into partial fractions. x —11 x—11 .._éf UGz (i)

(x—4)(x+3) (x-4)(x+3)
(i) Define an onto function. -é;@f&)‘lﬁ.yf (iii)

W) If L={ab,clandM={d,e,f, g} -ZPuwlinstLx Mix M={d,e,f, g} » L={a,b,c} /i (v)
then find two binary relations in L x Af

(V) If X={1,4,7,9}and ¥ ={2,4,5,9} LE XUY I Y ={2,4,59) 4 X={1,4,7,9 /1
thenfind XY

(viy f Y=2" T=0" thenfind YUT -g.-fr# YUT 3 T=0" . Y=2"J @

(vii) What is a histogram? Tug;’:cfﬁ’]f ¥ (vii)

(viii) Find arithmetic mean by direct method for the following set of data: Pl sz S sty (vill
12, 14, 17, 20, 24, 29, 35, 45

(ix) Define median. -_ébé‘/‘.’.d/gw,; (ix)

(& 3n)



(2)

4. Attempt any six parts. 12=2x6 #égfagiﬁf_l}?lga.éf A}:‘Uiyﬁ
(i) Define ratio and give one example. Lt e )
x? o2
(iiy If yoc7 and y =28 -Q{rsl”y?:r x=T7 cz=2 w2y=28 4 y057ﬂ (ii)
when x =7, z=2 ,thenfind V Y
Q
(i) Locate the angle in xy — plane. 22% 22;— "“i:rﬁlﬁﬁdﬁf" - Xy :f_,;u (iii)
(iv) Express 60° into radians. -éu.‘ u_‘ézf 60°  (iv)
I . Tn
(v) Convert 3 into degrees. -gédfufd)ﬁ*f 3 (v)
(vi) Define an angle. S S (Vi)
(vii) Prove that (1 — sin?0) (1 + tan?0) =1 (1- sin?@)(1 + tan’0 ) =1 ,J’é:c,:b (vii)
(viii) Ina A4BC , calculate mBC when mAB = 5cm, mAC =4cm, mZA = 60 - r:l"’ mBC Ut AABC  (viil)
L
(ix) Divide an arc of any length into two equal parts. OQ«;’E(:.F Lt urodf S8
SECTIONAI (.5
24=8x3 e SN el e rie b e

NOTE: Attempt any three questions but%tahn No.9 is compulsory.
; 9_ 8 _3x’+5
3x+1 3x+1

ts) UJ!JL x*=10x2+9=0 =hle '3 "1 /ﬁéd?:wy-;;_’/) ()

division if '1' and '3' are roots qf thé=€quation x*=10x2+9=0

-g‘;’:d’):‘.‘;’)b’é/@)); (N5

5.(A)  Solve the equation by completing square

(B) Solve by using synthetic =

2
2
it 42 - Jx*-2
(B) Resolve into partial fractions. 1 1 _L,;/J:"fp/u;z (o)
(x2-D(x+1) (x2=1)(x+1)

(ANB)NC = AN(BNC) sgesbdn C ={1,5,8,10} s B={1,4,7,10} « 4={1,3,57,9} A (-7
7(A) WA=1{1,3579}, B={1,4,7,10} and C ={1,5,8,10} then verify (ANBYNC = AN(BNC)
(B) Find standard deviation "S" of 9. 3889809 18 -g,-fph* 'S A ()

8.(A) Verify the identity [S6¢O +1 _ secO +1 {Se"e +1_seed +1 L.l (LI)-8
' sech —1 tan® secO —1 tan®

(B) Inscribe a circle in an equilateral triangle ABC x5 dud éi’;z.’.w,éé.n-,.,ﬂw”{ ABC slf i (&)
with each side of length Scm.
9. A straight line drawn from the centre of -;_tmf,_fj,w.,ﬁuv,é_/_.aﬁ! (w257 ) },JZ..}S*L.»..;:; -9
a circle to bisect a chord (which is not a diameter) is perpendicular to the chord.
CR |
w;.t-'n:.gﬁ L, AL FJJL{’;.J: E Welsy )i ds U?V ﬁzuﬂ::.&rff. U /ﬁ&ﬂ:"lud”i_.d /(éb J Wﬁé_ﬂiubgﬁ .‘A«f’df’

In any triangle, the square of the side opposite to acute angle is equal to sum of ..4_bm:l4£

the squares on the sides containing that acute angle diminished by twice the rectangle contained
by one of those sides and the projection on it of the other.
SE-30-2021-/800 (MULTAN)



PAPER CODE 2021 / / 9) A

SSC PART-II (10th CLASS) (SPECIAL EXAMINATION)

NUMBER: 3191

@VATHEMATICS (SCIENCE GROUP) hﬂh . w (,.,;:f S Pl
TIME ALLOWED: 20 Minutes OBJECTIVE (%».» o220 = =
MAXIMUM MARKS: 15 15= AF

/r‘-(f L S s WJWA:u'fu’JJc:.U* UJ/TJZL)d.VLJFY//LéKdV -t 2’54_) D sl C:B-:A utl?jibédfff s
VEIR V] KLlpL)u*( f*dfu" u}ﬂd/é_):,q. !{Js/b _gmr"hléuiiui;u" u)ﬂd/é../r/ P L d_/JuuvaJc..f B
Note: you have four choices for each objective type question as A, B, C and D. The choice ..u/ J"/;...,Uir
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A2
(1) The solution set of equation 4x* — 16 = 0 is: ,‘;_.:«rd’b’ 4x*-16=0 =bl- (1)
(A) {4} (B) {4} (C) {2} (D) £2
(2) Product of cube roots of unity is: .,r?-..,,ﬁd” bb’__fﬁjjgéé(l (2)
(A) O (B) 1 (C) -1 (D) 3
(3) Roots of equation 4x? — 4x + [ = 0 are: o —dx4+1=0 chs  (8)
(A) Real, equal J‘? sz (B) Real, unequal &-_’7 izt (C) Imaginary # (D) Irrational J"tf_’
.,z‘-_t'M.._/E b ulgwi ¢c » a A : c a:b=b:c ../!?J’V (4)
(4) In continued proportion @ : b =b: ¢, ac =b> b is said to be -@‘ ional between a and ¢ .
(A) Third 1 (B) Fourth 2 (C) Medns/ b+ (D) Extremes 2/ _
(5) The fourth proportional w of x 1 y 1 v:iwis: A * -5 W «—EBRL x tynviw ()
O ® 2 xyv ©) =
% x é‘ vy
6) (x+3P=x*+6x+9is R —_____ 4 (x+3)=x*+6x+9  (p)
(A) Identity Ll (B)Ane o+ (C) Alinear equation ._.-lsl.-f‘uﬁ (D) A fraction /
(7) The set having cnly one element is called; e g ﬂu’/ LIS AL (7
(A) Null set 26 @ rset el (C) Subset ..«r(f (D) Singleton set ...»—C(
8) If AcB ,then A— B isequal to wtbuds A-B m ACB i (8
A A ® B ©) ¢ ©) B-4
(9) Mean of a variable with si bservations _9&%1(}&_&4’: K A.«"VJ“P ﬂ'ﬁuu(ji‘*'.g%w/.'"’ J( (9,
say constant "K" is:
(A) Negative d’ (B) K-itself K :7=li (C)Zero 4 (D) Positive =}
(10) The measures that are used to determine -c;..t*ll:'::g 1 ;/}PC/JJ#JJVLVU‘ (10)
the degree or extent of variation in a data set are called measures of:
(A) Dispersion (B) Central tendency u!:’s'qd}} (C) Average L+ (D) Mode »b
(11) sac’f = =sec’® (11)
(A) 1-sin’0 (B) 1+ tan0 (€) 1+ cos®® (D) 1 - tan®0
(12) Line segment joining any point of the circle to - b M.-h?w:é,ﬂ-fffc..ﬂu’( Lo (12
the centre is called: ;
(A) Circumference L5 (B) Diameter /5 (C) Radial segment 5515, (D) Perimeter b
(13) Atangent line intersects the circle at: -.g._L"#K )L;:;Jugs.g (13)
(A) Asingle point £ &l  (B) Two points 4b@s (C) Three points {w'cf (D) No point at all u”fmf(
(14) A pair of chords of a circle subtending two Lon A ﬁ?'m,{_?.'i;w}»:‘farsfjdﬂ}ﬂfm (14)
congruent central angles is:
(A) Parallel (s (B) Overlapping -1 (C) Incongruent J‘L?/f (D) Congruent J“t?
(15) The length of the diameter of a circle is how many times ?c;..(:ﬁﬂ‘cf B Ll gt Jyd/ﬁﬁg../’h._g (15)
the radius of that circle?
(A) 1 (B) 2 (C) 3 (D) 4

SE-30(0bj)( 7)-2021-/Jc®>  (MULTAN)



PAPER CODE 2021 )] A
NUMBER:3193 SSC PART-ll (10th CLASS) (SPECIAL EXAMW

@ ATHEMATICS (SCIENCE GROUP) M M (os/ u*v_) U‘%J

TIME ALLOWED: 20 Minutes OBJECTIVE Lﬁf”y 220 = =

MAXIMUM MARKS: 15 15= Af
e of | )Zuif’u;awczuvé__.m;mc.u: u,}i:(d_'é_;;-;L«Lme{lez BLEsDsICBA e,g!z,-ﬁgédtm Y
{..;{,.JJYJ ! ..fi.b_lr:uﬁ‘// qufazﬂ(!é./m; ):J:/’IJ -&Jrjw.,.«lﬁuﬁufam‘JL& Jok L L/Ju:ﬂ:uyc_hg -ﬁ':
Note: you have four choices for each objective type question as A, B, C and D. The choice _u_’/'::J’}'fqalJb’
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions on this sheet of OBJECTIVE PAPER.

Q.No.1 RS
(1) If ACB ,then A - B is equalto: strds A-B i ACB S (1)
(A) 4 | (B) B (C) ¢ (D) B- 4
(2) Mean of a variable with similar observations ¢ brubidod £ K s~ e losss (@
say constant "K" is:
(A) Negative (¢ (B) K-itself K s7=1i (C) Zero P %} Positive =.*
(3) The measures that are used to determine e bblkK Q/F'JL" LA L;:J?’JJ’V:?JSL;" @)
the degree or extent of variation in a data set are called measures of: { :
(A) Dispersion .= (B) Central tendency ulfuu‘/',"r @erage b (D) Mode bk
(4) sec’® = N _ =sec’® (4
(A) 1-sin’0 (B) 1+ tan’0 &» cos’f (D) 1 - tan’@
(5) Line segment joining any point of the circle to 0 e t'w/ L Babnd u:@}:..b'ifu/ Lo o (5)
the centre is called:
(A) Circumference Ls (B) Diameter @ (C) Radial segment =451;, (D) Perimeter bbb/
(6) Atangent line intersects the circle at: -« ¥ :Q.;uuvg.g (6)
(A) Asingle point , L.{i (B) Twop %58 (C) Three points £46c2 (D) No point at all u:'%ii'»o’(
(7) A pair of chords of a circle subtendin -ﬁuyz — e J:Tuu_: i;u,}mu’e’_;udﬂ}fb’w (7)

congruent central angles is:
(A) Parallel ($Ji#

* & ¥ L]
(B) Overlapping /1 (C) Incongruent Ji# (D) Congruent i

(8) The length of the diamete ircle is how many times Se QoL il s WWEELe g (8)
the radius of that circl
(A) 1 (B) 2 ©) 3 (D) 4
(9) The solution set of equation 4x*> — 16 = 0 is: e S 42— 16=0 =hbis (9)
(A) {4} (8) {4} (C) {£2} (D) +2
(10) Product of cube roots of unity is: kil b i L 36 (10)
(A) 0 (B) 1 ©) -1 D) 3
(11) Roots of equation 4x*> - 4x + 1 =0 are: _L,_.f?‘)ué dx*—4x+1=0 obl- (11)
(A) Real, equal J’:" sl (B) Real, unequal J:T" izt (C) Imaginary &? ,{ (D) Irrational ‘?tf!
St bl ¢ woa & ac=b . azb=bic _&f” (1)
(12) In continued proportion g : » = b : ¢, gc = b?, b issaidtobe ____ proportional between @ and <.
(A) Third 1~ (B) Fourth 1z (C) Means b (D) Extremes ¢~/
(13) The fourth proportional w of x : y v : w is: - w tEL xyuviw (13)
) = ) ©) xpv ) =
v X vy
(14) (x+3)’=x+6x+9 is: - L (x+3y=x’+6x+9  (14)
(A) Identity s (B) An equation =L+ (C) A linear equation .:-.«lsl,-ﬂob (D) A fraction /
(15) The set having only one element is called: il s Mugugdﬁcﬂfée’ (15)
(A) Null set 2t (B) Power set x5 (C) Subset &r(¥ (D) Singleton set (L

SE-30(0bj)( 3 W)-2021-49C0  (MULTAN)



3 ’\ .
PAPER CODE 2021 /> [ ey

NUMBER: 3195 SSC PART-Il (10th CLASS) (SPECIAL EXAMINAT
@®MATHEMATICS (SCIENCE GROUP) [AMARS" Y D S

TIME ALLOWED: 20 Minutes OBJECTIVE u‘iry 220 = =

MAXIMUM MARKS: 15 15= AF

S \ SAII IO L i erne o s s Ll 38312 <t L&D 1w C B A 22l livy 2
{24! Kbl /dy{ﬁ..ur‘(f&.):,; ):,J:/l: -{MJJ"JUFHF?BJLQ;HJ)‘JL-):Q Jok L A.fx,:’/u:/lmh‘:.'.ﬂ &
Note: you have four choices for each objective type question as A, B, C and D. The choice _u_/:d");umr
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will resuit in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 | /1‘Uir'
(1) A pair of chords of a circle subtending two Lo AR e u;}mw’-_g:ud}w‘u"u (1)
congruent central angles is:
(A) Parallel (15 (B) Overlapping /1> (C) Incongruent Ji# (D) Congruent S
(2) The length of the diameter of a circle is how many times ?q.anbf&'fﬁu%}bdfdu@ﬁigﬂmg (2)
the radius of that circle?
(A) 1 (B) 2 C) 3 ,Q (D) 4
(3) The solution set of equation 4x2—16 =0 is: S oo S¥ 4x1-16=0 =hble  (3)

(A) {£4} (B) {4} (©) {@ (D) +2
(4) Product of cube roots of unity is: K JIJ@LJKI (4)

‘ L 3
(A) 0 (B) 1 é (D) 3

(5) Roots of equation 4x> — 4x + 1 = 0 are: AL AP —dx+1=0 obe  (5)

(A) Real, equal &? sz (B) Real, unequ@u‘f.t (C) Imaginary L}E?ff (D) Irrational J”t/!
bt b kT woa £ ac=b o aib=bic AT ®

(8) In continued proportiona:b=b:¢c, ac = is said to be proportional between a and ¢ .
(A) Third 1= (B) 77 (C) Means L~ (D) Extremes ¢2/

(7) The fourth proportional w of x : y Q) IS e W oFUgL X iynvIiw  (7)
® = B8) = () xyv (D) =

vy

(8) (x+3)=x2+6x+ i e L (x+3) =x"+6x+9  (8)
(A) Identity o (B) An equation =hl- (C)Alinear equation =bls¢® (D)A fraction

(9) The set having only one element is called: & bty ﬁdj..ﬁ_j/u.‘.u’-.:{ (9)
(A) Null set 2} (B) Power set x| (C) Subset JJ’? (D) Singleton set .{ﬂ.

(10) If AcB ,then A - B isequalto -etnsds A-B ¥ ACB A (10
(A) 4 (B) B (C) ¢ (D) B- 4

(11) Mean of a variable with similar observations e brbaidlod £ K 00 g M B 7P s (1)

say constant "K" is:

(A) Negative d" (B) K-itself K s#zii (C)Zero 3 (D) Positive =3

(12) The measures that are used to determine il m&;s’ c../f'sl” C;JJ:J?'LFJ'ffJKH' (12)

the degree or extent of variation in a data set are called measures of:

(A) Dispersion &5t (B) Central tendency w457 (C)Average ks (D) Mode sk

(13) sec’® = =sec’® (13)
(A) 1 —sin’® (B) 1+ tan’0 (C) 1 + cos’® (D)1 - tan’0

(14) Line segment joining any point of the circle to et sl e Bl (14)

the centre is called:

(A) Circumference L5 (B) Diameter (C) Radial segment s, (D) Perimeter b

(15) A tangent line intersects the circle at: - 0¥ S g (15)

(A) Asingle point z 5\l  (B) Two points ¢4 (C) Three points £s6cf (D) No point at all u:f;;mr’
SE-30(0bj)( W W W)2021-)JC0  (MULTAN)



PAPER CODE . 2021 /5/)/ J s

NUMBER: 3197 SSC PART-Il (10th CLASS) (SPECIAL EXAMINA
HEMATICS (SCIENCE GROUP) Mv M (,,/ S u‘LJ
TIME ALLOWED: 20 Minutes OBJECTIVE 0‘3/’,‘9 e 20 =
MAXIMUM MARKS: 15 15 = /fU‘

S\ SIS Il zrne o O s\ Ly $8317 < LD 41 C B A clizbpl vy 2
/2/.—"}'1)" —(L'ﬂt}wf{df(‘xi.-d!‘d/é—f !(JJ/’J fﬁn"jbliulfad;u*uﬂ"(jd_).; S L L/JUJ/'JMLJ(—J é:
Note: you have four choices for each objective type question as A, B, C and D. The choice -q):d’)j;uuir
which you think is correct, fill that bubble in front of that question number, on bubble sheet. Use marker or pen
to fill the bubbles. Cutting or filling two or more bubbles will result in zero mark in that question. No credit will be
awarded in case BUBBLES are not filled. Do not solve questions o n this sheet of OBJECTIVE PAPER.

Q.No.1 A Ay
(1) The fourth proportional w ofx : y iv:wis: < W gL x tyviw (1)
) 2 ® 2 ©) xyv ©) =
v x vy
2) (x+3) =x*+6x+9is: e fx+3)=x"+6x+9 (2)
(A) Identity =10 (B) An equation =i~ (C)Alinear equatio (D) Afraction
(3) The set having only one element is called: ﬁJLQ_iAﬂu’w 3)
(A) Null set -k (B) Power set Zxusl (C) Subset (D) Singleton set U:C,f
(4) If ACB ,then A - B is equaito O —ctnds A-B 3 AcB S (4)
(A) A (B) B C) ¢ (D) B-4
(5) Mean of a variable with similar observations Qe L K s B (2" s (5)
say constant "K" is: 0
(A) Negative d" (B) K-itself K :é. (C) Zero (D) Positive =3
(6) The measures that are used to determine =1 L”Jk’./;'r £ /’)L” /d, é} KRl (6)
the degree or extent of variation in a data se ed ,measures of.
(A) Dispersion s endency ut?)d/ff (C) Average b (D) Mode sk
(7) sec’®0 = =sec’® (7)
(A) 1-sin’0 (& + tan’@ (C) 1+ cos’0 (D) 1 - tan’®
(8) Line segment joining any poi circle to s b »,,J:‘s'uui,.ufﬂ}a.ﬁu’( Le (8)
the centre is called:
(A) Circumferenc (B) Diameter 4 (C) Radial segment =551, (D) Perimeter b
(9) Atangent line intersects the circle at: 't e L (9)
(A) Asingle point ;i  (B) Two points ¢ (C) Three points zbek (D) No point at all u”/.wu’(
(10) A pair of chords of a circle subtending two Lun ATt S e UomPe SIS (10)
congruent central angles is: .
(A) Parallel (§.i5 (B) Overlapping /1> (C) Incongruent Ji## (D) Congruent i+
(11) The length of the diameter of a circle is how many times fe. Aot L il e UGB L ol (1)
the radius of that circle?
(A) 1 (B) 2 (C) 3 (D) 4
(12) The solution set of equation 4x> — 16 = (is: ceor ¥ 4x'-16=0 =ble  (12)
(A) {4} (B) {4} (©) {£2} (D) £2
(13) Product of cube roots of unity is: I ) o WJ’@LJFF (13)
(A) 0 (B) 1 (©) -1 (D) 3
(14) Roots of equation 4x* — 4x + 1 = 0 are: -ugujuf. 4’ —4x+1=0 b (14)
(A) Real, equal L?’-'b sz (B) Real, unequal J? <zt (C) Imaginary (}37 /{ (D) Irrational & t/f
et byl ¢ o a f oac=b « aib=bic S (15
(15) In continued proportiona : b =b:c, ac =b* bissaidtobe _ proportional between g and ¢
(A) Third 1< (B) Fourth %% (C) Means L~ (D) Extremes u-‘f)
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